

On a family of operator means involving the power difference means

Yoichi Udagawa(Tokyo University of Science),
Shuheï Wada(Kisarazu National College of Technology),
Takeaki Yamazaki(Toyo University),
and Masahiro Yanagida(Tokyo University of Science)

Abstract

It is so famous that power mean is interpolational mean which interpolates arithmetic, geometric, and harmonic means. Power difference mean and stolarsky mean are known as the interpolational means too. Moreover, these all means are operator means.

In this report, we introduce a new way to get a family of operator means and obtain a new type of interpolational mean $F_{p,q}(t)$. This interpolational mean $F_{p,q}(t)$ interpolates power mean, power difference mean, and a part of stolarsky mean.

1 Introduction

In this report, we study operator mean and operator monotone function. First of all, we introduce some symbols and definitions used in this paper.

Let \mathcal{H} be a complex Hilbert space with an inner product $\langle \cdot, \cdot \rangle$, and $\mathcal{B}(\mathcal{H})$ be a set of all bounded linear operators on \mathcal{H} . An operator $A \in \mathcal{B}(\mathcal{H})$ is said to be positive if and only if $\langle Ax, x \rangle \geq 0$ for all $x \in \mathcal{H}$. We denote a positive operator A by $A \geq 0$. Let $\mathcal{B}(\mathcal{H})_+$ be a set of all positive operators in $\mathcal{B}(\mathcal{H})$. For self-adjoint operators $A, B \in \mathcal{B}(\mathcal{H})$, $A \leq B$ means $B - A$ is positive.

A function $f(t)$ defined on an interval I in \mathbb{R} is called an *operator monotone function*, provided $A \leq B$ implies $f(A) \leq f(B)$ for every pair A and B whose spectra $\sigma(A)$ and $\sigma(B)$ lie in I . The function $f(t) = t^\alpha$ ($0 \leq \alpha \leq 1$) is a well-known operator monotone function. By this fact, we get

$$0 \leq A \leq B \implies \frac{A^\alpha - I}{\alpha} \leq \frac{B^\alpha - I}{\alpha}.$$

So we can find $f(t) = \log t$ is an operator monotone function by taking limit $\alpha \downarrow 0$.

The map $\sigma : \mathcal{B}(\mathcal{H})_+^2 \rightarrow \mathcal{B}(\mathcal{H})_+$ is called an *operator mean*[6] if the operator $A\sigma B$ satisfies the following four conditions for $A, B \in \mathcal{B}(\mathcal{H})_+$;

- (1) $A \leq C$ and $B \leq D$ implies $A\sigma B \leq C\sigma D$,
- (2) $C(A\sigma B)C \leq (CAC)\sigma(CBC)$ for all self-adjoint $C \in \mathcal{B}(\mathcal{H})$,
- (3) $A_n \searrow A$ and $B_n \searrow B$ imply $A_n\sigma B_n \searrow A\sigma B$,
- (4) $I\sigma I = I$.

Next theorem is so important to study operator means;

Theorem 1 (Kubo-Ando[6]). *For any operator mean σ , there uniquely exists an operator monotone function $f \geq 0$ on $[0, \infty)$ with $f(1) = 1$ such that*

$$f(t)I = I\sigma(tI), \quad t \geq 0.$$

Then the following hold:

- (1) *The map $\sigma \mapsto f$ is a one-to-one onto affine mapping from a set of all operator means to a set of all non-negative operator monotone functions on $[0, \infty)$ with $f(1) = 1$. Moreover, $\sigma \mapsto f$ preserves the order. Therefore, when $\sigma_i \mapsto f_i (i = 1, 2)$,*

$$A\sigma_1 B \leq A\sigma_2 B \quad (A, B \in \mathcal{B}(\mathcal{H})_+) \iff f_1(t) \leq f_2(t) \quad (t \geq 0).$$

- (2) *When $A > 0$, $A\sigma B = A^{\frac{1}{2}} f(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}) A^{\frac{1}{2}}$.*

By previous theorem, it is enough to think about operator monotone function when we think about operator means. So we will only think about "positive" operator monotone functions on $[0, \infty)$ in the following.

Next we introduce some types of operator means;

Definition 1. *Let σ be an operator mean and $f(t)$ be a corresponding function of σ .*

- (1) *The operator mean characterized by $\frac{t}{f(t)}$ is called dual of σ ,*
- (2) *The operator mean characterized by $f(t^{-1})^{-1}$ is called adjoint of σ ,*
- (3) *The operator mean characterized by $tf(t^{-1})$ is called orthogonal of σ ,*
- (4) *If $f(t)$ satisfies $f(t) = tf(t^{-1})$, then σ is called a symmetric operator mean.*

If σ is symmetric, then $A\sigma B = B\sigma A$. Lastly, we introduce some examples of operator means;

Example 1. *Arithmetic Mean:* $f(t) = \frac{1+t}{2}$

$$A \nabla B = A^{\frac{1}{2}} \left(\frac{1}{2} \left(I + A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right) \right) A^{\frac{1}{2}} = \frac{A+B}{2}.$$

Logarithmic Mean:

$$A \lambda B = A^{\frac{1}{2}} f \left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right) A^{\frac{1}{2}}, \quad f(t) = \frac{t-1}{\log t}.$$

Geometric Mean: $f(t) = t^{\frac{1}{2}}$

$$A \sharp B = A^{\frac{1}{2}} \left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right)^{\frac{1}{2}} A^{\frac{1}{2}}.$$

Harmonic Mean: $f(t) = \frac{2t}{1+t} = 2(1+t^{-1})^{-1}$

$$A ! B = A^{\frac{1}{2}} \left\{ 2 \left(I + \left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right)^{-1} \right)^{-1} \right\} A^{\frac{1}{2}} = 2(A^{-1} + B^{-1})^{-1}.$$

2 Examples of Interpolational Means

Throughout this paper, if an operator mean interpolates some operator means, then we call it "interpolational mean". We describe some examples of interpolational means in the following;

Example 2 (Power mean[5]). *Let $-1 \leq s \leq 1$. Then*

$$P_s(t) = \left(\frac{1+t^s}{2} \right)^{\frac{1}{s}}$$

is an operator monotone function of $t > 0$, and $P_{s_1}(t) \leq P_{s_2}(t)$ holds for $-1 \leq s_1 \leq s_2 \leq 1$. (The case $s = 0$ is defined as the limit.)

$s = 1$ (*Arithmetic Mean*):

$$P_1(t) = \frac{1+t}{2}.$$

$s \rightarrow 0$ (*Geometric Mean*):

$$P_0(t) := \lim_{s \rightarrow 0} P_s(t) = t^{\frac{1}{2}}.$$

$s = -1$ (*Harmonic Mean*):

$$P_{-1}(t) = \left(\frac{1+t^{-1}}{2} \right)^{-1} = \frac{2t}{1+t}.$$

Example 3 (Stolarsky Mean[7]). Let $-2 \leq s \leq 2$. Then,

$$ST_s(t) = \left\{ \frac{t^s - 1}{s(t-1)} \right\}^{\frac{1}{s-1}}$$

is an operator monotone function of $t > 0$. (The case $s = 0, 1$ are defined as the limits.)

$s = 2$ (Arithmetic Mean) :

$$ST_2(t) = \frac{1+t}{2}.$$

$s \rightarrow 1$ (Identric Mean) :

$$ST_1(t) := \lim_{s \rightarrow 1} ST_s(t) = \exp \left\{ \frac{t \log t}{t-1} - 1 \right\}.$$

$s \rightarrow 0$ (Logarithmic Mean) :

$$ST_0(t) := \lim_{s \rightarrow 0} ST_s(t) = \frac{t-1}{\log t}.$$

$s = -1$ (Geometric Mean) :

$$ST_{-1}(t) = t^{\frac{1}{2}}.$$

Example 4 (Power Difference Mean[3, 4, 5]). Let $-1 \leq r \leq 2$. Then

$$g_r(t) = \frac{(r-1)(t^r - 1)}{r(t^{r-1} - 1)}$$

is an operator monotone function of $t > 0$ and $g_{r_1}(t) \leq g_{r_2}(t)$ holds for $-1 \leq r_1 \leq r_2 \leq 2$.

Due to the following relation, we treat power difference mean as $PD_s(t)$ in this report ;

$$g_r(t) = \frac{(r-1)(t^r - 1)}{r(t^{r-1} - 1)} \quad (-1 \leq r \leq 2) \iff PD_s(t) = \frac{s(t^{1+s} - 1)}{(1+s)(t^s - 1)} \quad (-2 \leq s \leq 1)$$

(The case $s = 0, 1$ are defined as the limits.)

$s = 1$ (*Arithmetic Mean*) :

$$PD_1(t) = \frac{1+t}{2}.$$

$s \rightarrow 0$ (*Logarithmic Mean*) :

$$PD_0(t) := \lim_{s \rightarrow 0} PD_s(t) = \frac{t-1}{\log t}.$$

$s = \frac{-1}{2}$ (*Geometric Mean*) :

$$PD_{\frac{-1}{2}}(t) = t^{\frac{1}{2}}.$$

$s \rightarrow -1$ (*Adjoint of Logarithmic Mean*) :

$$PD_{-1}(t) := \lim_{s \rightarrow -1} PD_s(t) = \frac{t \log t}{t-1} = PD_0(t^{-1})^{-1}.$$

$s = -2$ (*Harmonic Mean*) :

$$PD_{-2}(t) = \frac{2t}{1+t} = PD_1(t^{-1})^{-1}.$$

Operator monotonicity of power difference mean is delivered by the following integration. Let $f_s(\alpha; t) = ((1-\alpha) + \alpha t^s)^{\frac{1}{s}}$ ($-1 \leq s \leq 1$). Then

$$\begin{aligned} \left(F_s(t) = \right) \int_0^1 f_s(\alpha; t) d\alpha &= \left[\frac{1}{t^s - 1} \frac{s}{s+1} (\alpha(t^s - 1) + 1)^{\frac{1}{s}+1} \right]_0^1 \\ &= \frac{s(t^{1+s} - 1)}{(1+s)(t^s - 1)} \end{aligned}$$

is an operator monotone function of $t \geq 0$ and $F_{s_1}(t) \leq F_{s_2}(t)$ holds for $-1 \leq s_1 \leq s_2 \leq 1$.

This derivation is so beautiful, but has one problem. Power Difference Mean is an operator monotone function for $-2 \leq s \leq 1$. However, we can not show operator monotonicity of $F_s(t)$ for $-2 \leq s < -1$ by using this technique.

3 Main Results

In this section, we introduce a new way to get a family of operator means and obtain a new interpolational mean by applying it.

For a natural number k , let $u(t)$ be a positive function on $[0, \infty)$ defined by

$$u(t) := r \prod_{i=1}^k (t+a_i)^{p_i}, \quad (0 \leq a = a_1 < a_2 < \cdots < a_k = b, 1 \leq p_1, 0 < p_i, 0 < r).$$

We remark that M.Uchiyama[9] has shown $u^{-1}(t)$ is an operator monotone function.

Theorem 2. *Let μ be a probability measure on $[0, 1]$ and $\{f(\alpha; t) | \alpha \in [0, 1]\}$ be a family of positive valued operator monotone functions of $t \geq 0$. Assume for each $t \geq 0$, the map $\alpha \mapsto f(\alpha; t)$ is continuous. Then*

$$F(t) = u \left(\int_0^1 u^{-1}(f(\alpha; t)) d\mu(\alpha) + b - a \right)$$

is an operator monotone function.

Proof of Theorem 2. As every operator monotone function $f \geq 0$ on $[0, \infty)$ is a Pick function, it is enough to show that $u \left(\sum_j \beta_j u^{-1}(f(\alpha_j; t)) + b - a \right)$ is a Pick function for any positive numbers β_1, \dots, β_m which satisfy $\sum_j \beta_j = 1$. From the assumption, $u^{-1}(f(\alpha; t))$ is an operator monotone function by the above attention.

For a complex number z which is in the upper half complex plane,

$$\begin{aligned} & 0 < \arg \left(u \left(\sum_j \beta_j u^{-1}(f(\alpha_j; z)) + b - a \right) \right) \\ &= \sum_i p_i \arg \left(\sum_j \beta_j u^{-1}(f(\alpha_j; z)) + b - a + a_i \right) \\ &\leq \sum_i p_i \arg \left(\sum_j \beta_j u^{-1}(f(\alpha_j; z)) + b \right) \\ &= \sum_i p_i \arg \left(\sum_j \beta_j (u^{-1}(f(\alpha_j; z)) + b) \right) \end{aligned}$$

$$\begin{aligned}
&\leq \sum_i p_i \arg(u^{-1}(f(\alpha_{j_0}; z)) + b) \\
&\leq \sum_i p_i \arg(u^{-1}(f(\alpha_{j_0}; z)) + a_i) \\
&= \arg(u(u^{-1}(f(\alpha_{j_0}; z)))) \\
&= \arg f(\alpha_{j_0}; z) < \pi.
\end{aligned}$$

□

Corollary 1. Let $\{f(\alpha; t) | \alpha \in [0, 1]\}$ be a family of positive valued operator monotone functions of $t \geq 0$. Assume for each $t \geq 0$, the map $\alpha \mapsto f(\alpha; t)$ is continuous. Then for each $p \in [-1, 1] \setminus \{0\}$,

$$F_p(t) := \left(\int_0^1 f(\alpha; t)^p d\alpha \right)^{\frac{1}{p}}$$

is an operator monotone function of $t \geq 0$. Moreover, for each fixed $t \geq 0$, $F_{p_1}(t) \leq F_{p_2}(t)$ holds for $p_1, p_2 \in [-1, 1] \setminus \{0\}$, $p_1 \leq p_2$.

Corollary 1 is a special case of Theorem 1 by taking $u(t) = t^{\frac{1}{p}}$. It is also obtained by using Thompson metric and Banach fixed point theorem. We now give another proof of Corollary 1. Firstly, we prepare the definition and properties of Thompson metric to prove Corollary 1. In what follows, let \mathbb{P} be a cone of strictly positive operators.

Definition 2. For $A, B \in \mathbb{P}$, let

$$M(B/A) = \inf\{\alpha > 0; B \leq \alpha A\}.$$

Then the Thompson metric is defined by

$$d_\infty(A, B) = \max\{\log M(B/A), \log M(A/B)\}.$$

Thompson metric is a complete metric on \mathbb{P} . (Thompson 1963[8])
Thompson metric have nice two properties[1][2];

(1) Let $A, B \in \mathbb{P}$ and $d_\infty(A, B) = \log m$. Then,

$$m^{-1}B \leq A \leq mB.$$

Conversely, if m satisfies $m^{-1}B \leq A \leq mB$, then $d_\infty(A, B) \leq \log m$.

(2) Let $A, B, C, D \in \mathbb{P}$. Then, for any $\alpha \in [0, 1]$,

$$d_\infty(A \#_\alpha B, C \#_\alpha D) \leq (1 - \alpha)d_\infty(A, C) + \alpha d_\infty(B, D)$$

where $A \#_{\alpha} B = A^{\frac{1}{2}} \left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right)^{\alpha} A^{\frac{1}{2}}$.

Lemma 1. *Let d_{∞} be a Thompson metric of \mathbb{P} . Then, for $X, Y, A > 0$ and $s \in (0, 1]$,*

$$d_{\infty} \left(\int_0^1 (X \#_s f(\alpha; A)) d\alpha, \int_0^1 (Y \#_s f(\alpha; A)) d\alpha \right) \\ \leq \sup_{\alpha \in [0,1]} d_{\infty} \left(X \#_s f(\alpha; A), Y \#_s f(\alpha; A) \right).$$

Proof of Lemma 1. Let

$$\sup_{\alpha \in [0,1]} d_{\infty} \left(X \#_s f(\alpha; A), Y \#_s f(\alpha; A) \right) = \log m.$$

From property (1),

$$m^{-1} (Y \#_s f(\alpha; A)) \leq X \#_s f(\alpha; A) \leq m (Y \#_s f(\alpha; A))$$

holds for any $\alpha \in [0, 1]$. Therefore,

$$m^{-1} \int_0^1 (Y \#_s f(\alpha; A)) d\alpha \leq \int_0^1 (X \#_s f(\alpha; A)) d\alpha \leq m \int_0^1 (Y \#_s f(\alpha; A)) d\alpha,$$

namely,

$$d_{\infty} \left(\int_0^1 (X \#_s f(\alpha; A)) d\alpha, \int_0^1 (Y \#_s f(\alpha; A)) d\alpha \right) \\ \leq \log m = \sup_{\alpha \in [0,1]} d_{\infty} \left(X \#_s f(\alpha; A), Y \#_s f(\alpha; A) \right).$$

□

Lemma 2. *The map $F : \mathbb{P} \rightarrow \mathbb{P}$ defined by*

$$F(X) = \int_0^1 (X \#_s f(\alpha; A)) d\alpha \quad (s \in (0, 1])$$

is a contractive map. Moreover, the following equation

$$X = \int_0^1 (X \#_s f(\alpha; A)) d\alpha \quad (s \in (0, 1])$$

has the unique positive solution on \mathbb{P} and its solution coincides with

$$\left(\int_0^1 f(\alpha; A)^s d\alpha \right)^{\frac{1}{s}}.$$

Proof of Lemma 2. Let $X, Y \in \mathbb{P}$. Then,

$$\begin{aligned} d_\infty(F(X), F(Y)) &= d_\infty\left(\int_0^1 (X \#_s f(\alpha; A)) d\alpha, \int_0^1 (Y \#_s f(\alpha; A)) d\alpha\right) \\ &\leq \sup_{\alpha \in [0,1]} d_\infty\left(X \#_s f(\alpha; A), Y \#_s f(\alpha; A)\right) \\ &\leq \sup_{\alpha \in [0,1]} \{(1-s)d_\infty(X, Y) + s d_\infty(f(\alpha; A), f(\alpha; A))\} \\ &= (1-s)d_\infty(X, Y), \end{aligned}$$

where the first inequality holds from Lemma 1 and the second one holds from property (2). Since $1-s \in [0, 1]$, F is a contractive map. From Banach fixed point theorem, F has the unique fixed point, namely,

$$X = F(X) = \int_0^1 (X \#_s f(\alpha; A)) d\alpha$$

has the unique positive solution on \mathbb{P} . Next, we show its solution coincides with

$$X_0 := \left(\int_0^1 f(\alpha; A)^s d\alpha\right)^{\frac{1}{s}}$$

by substitution. Since $X_0 \#_s f(\alpha; A) = X_0^{1-s} f(\alpha; A)^s$ and

$$\begin{aligned} X_0 &= \left(\int_0^1 f(\alpha; A)^s d\alpha\right)^{\frac{1}{s}} \implies X_0^s = \int_0^1 f(\alpha; A)^s d\alpha, \\ \int_0^1 (X_0 \#_s f(\alpha; A)) d\alpha &= \int_0^1 X_0^{1-s} f(\alpha; A)^s d\alpha = X_0^{1-s} \int_0^1 f(\alpha; A)^s d\alpha \\ &= X_0^{1-s} X_0^s = X_0. \end{aligned}$$

□

Proof of Colloary 1. Firstly, we prove operator monotonicity about the case $p \in (0, 1]$. For $0 < A \leq B$, let define the maps F, G as

$$F(X) = \int_0^1 (X \#_p f(\alpha; A)) d\alpha, \quad G(X) = \int_0^1 (X \#_p f(\alpha; B)) d\alpha.$$

Then from Lemma 2, $F(X) = X$ and $G(X) = X$ have the following unique solutions in \mathbb{P} respectively:

$$X_0 = \left(\int_0^1 f(\alpha; A)^p d\alpha\right)^{\frac{1}{p}}, \quad X_1 = \left(\int_0^1 f(\alpha; B)^p d\alpha\right)^{\frac{1}{p}}.$$

Moreover, $F^k(X) \leq G^k(X)$ holds for all $k \in \mathbb{N}$, where F^k is the k -times composite of F . For any $X > 0$, there exist $\lim_{k \rightarrow \infty} F^k(X)$, $\lim_{k \rightarrow \infty} G^k(X)$ and

$$\left(\int_0^1 f(\alpha; A)^p d\alpha \right)^{\frac{1}{p}} = X_0 = \lim_{k \rightarrow \infty} F^k(X),$$

$$\left(\int_0^1 f(\alpha; B)^p d\alpha \right)^{\frac{1}{p}} = X_1 = \lim_{k \rightarrow \infty} G^k(X)$$

by Banach fixed point theorem. Therefore, we have

$$\left(\int_0^1 f(\alpha; A)^p d\alpha \right)^{\frac{1}{p}} = \lim_{k \rightarrow \infty} F^k(X) \leq \lim_{k \rightarrow \infty} G^k(X) = \left(\int_0^1 f(\alpha; B)^p d\alpha \right)^{\frac{1}{p}}.$$

The case $p \in [-1, 0)$ is also obtained by replacing p into $-p$ and $X = X^{-1}$.

Next we show the monotonicity of $p \in [-1, 1] \setminus \{0\}$. For $0 < p_1 \leq p_2 \leq 1$, $t^{\frac{p_1}{p_2}}$ is a concave function. By Jensen's inequality, we have

$$\int_0^1 (f(\alpha; t)^{p_2})^{\frac{p_1}{p_2}} d\alpha \leq \left(\int_0^1 f(\alpha; t)^{p_2} d\alpha \right)^{\frac{p_1}{p_2}}$$

and find $F_{p_1}(t) \leq F_{p_2}(t)$ ($t > 0$, $0 < p_1 \leq p_2 \leq 1$). Likewise, we can get $F_{q_1}(t) \leq F_{q_2}(t)$ ($t > 0$, $-1 \leq q_1 \leq q_2 < 0$). Moreover, we can find $F_{-p}(t) \leq F_p(t)$ ($t > 0$, $p \in (0, 1]$) from convexity of t^{-1} and Jensen's inequality. From the above,

$$F_p(t) \leq F_q(t) \quad (t > 0, p, q \in [-1, 1] \setminus \{0\}, p \leq q).$$

□

In Corollary 1, we don't think about the case $p = 0$. The case $p = 0$ is defined as the limit if it exists. And then, we have the following equation by l'Hopital's rule;

$$F_0(t) := \lim_{p \rightarrow 0} F_p(t) = \exp \left(\int_0^1 \log f(\alpha; t) d\alpha \right).$$

4 Applications

In Section 3, we have had a new way to get a family of operator means. By applying it, we obtain a new family of operator means at the next theorem. After that, we show that it is an interpolational mean which interpolates power mean, power difference mean, and a part of stolarsky mean.

Theorem 3. For $s \in [-1, 1] \setminus \{0\}$ and $r \in [-1, 1] \setminus \{0\}$,

$$F_{s,r}(t) = \left(\int_0^1 (f_r(\alpha; t))^s d\alpha \right)^{\frac{1}{s}}$$

is an operator monotone function of $t \geq 0$ and

$$F_{s_1,r}(t) \leq F_{s_2,r}(t), \quad F_{s,r_1}(t) \leq F_{s,r_2}(t)$$

hold for $s_1, s_2 \in [-1, 1] \setminus \{0\}$, $s_1 \leq s_2$, $r_1, r_2 \in [-1, 1] \setminus \{0\}$, $r_1 \leq r_2$.

Theorem 3 is obtained by putting $f_r(\alpha; t) = [(1 - \alpha) + \alpha t^r]^{\frac{1}{r}}$ and $p = s$ in Corollary 1. In Theorem 2, the case $s, r = 0$ can be considered as the limits of $s, r \rightarrow 0$, respectively.

By simple computation, we get

$$F_{s,r}(t) = \left(\frac{r(t^{s+r} - 1)}{(s+r)(t^r - 1)} \right)^{\frac{1}{s}}.$$

We call $F_{s,r}(t)$ "extension of power difference mean".

Proposition 1. Extension of power difference mean $F_{s,r}(t)$ is an interpolational mean which interpolates power mean, power difference mean, and a part of stolarsky mean.

Proof of Proposition 1. By taking $s = r$, we get power mean

$$F_{s,s}(t) = \left(\frac{1 + t^s}{2} \right)^{\frac{1}{s}} = P_s(t) \quad (-1 \leq s \leq 1).$$

Thus $F_{s,r}(t)$ interpolates power mean and the means which power mean interpolates.

Next, we show $F_{s,r}(t)$ interpolates power difference mean. By taking $s = 1$, we get

$$F_{1,r}(t) = \frac{r(t^{1+r} - 1)}{(r+1)(t^r - 1)} \quad (-1 \leq r \leq 1).$$

By taking $s = -1$ and thinking parameter range, we get

$$F_{-1,r}(t) = \frac{(r-1)(t^r - 1)}{r(t^{r-1} - 1)} \quad (-1 \leq r \leq 1) \iff \frac{p(t^{1+p} - 1)}{(p+1)(t^p - 1)} \quad (-2 \leq p \leq 0)$$

Connecting both parameter range, we have power difference mean

$$PD_s(t) = \frac{s(t^{1+s} - 1)}{(1+s)(t^s - 1)} \quad (-2 \leq s \leq 1).$$

Lastly, we think about the case $s = p - 1$ and $r = 1$. Simple substitution derives

$$F_{p-1,1}(t) = \left\{ \frac{t^p - 1}{p(t-1)} \right\}^{\frac{1}{p-1}} = ST_p(t) \quad (0 \leq p \leq 2).$$

It follows from Theorem 3 that the above is an operator monotone function of $t \geq 0$ and $ST_{p_1}(t) \leq ST_{p_2}(t)$ holds for $0 \leq p_1 \leq p_2 \leq 2$. \square

Remark 1.

$$ST_p(t) = \left\{ \frac{t^p - 1}{p(t-1)} \right\}^{\frac{1}{p-1}} \quad (-2 \leq p \leq 2).$$

Stolarsky mean is an operator monotone function for $-2 \leq p \leq 2$. However, we can not show operator monotonicity for $-2 \leq p < 0$ by using operator monotonicity of $F_{s,r}(t)$, directly.

At the end of the paper, we introduce a property of $F_{s,r}(t)$.

Proposition 2. *Let*

$$F_{s,r}(t) = \left(\frac{r(t^{s+r} - 1)}{(s+r)(t^r - 1)} \right)^{\frac{1}{s}}$$

and $\sigma_{s,r}$ be an operator mean which is characterized by $F_{s,r}(t)$, i.e., for $A, B > 0$,

$$A\sigma_{s,r}B = A^{\frac{1}{2}}F_{s,r}\left(A^{-\frac{1}{2}}BA^{-\frac{1}{2}}\right)A^{\frac{1}{2}}.$$

Then $\sigma_{s,r}$ is symmetric operator mean, and both of the dual and the adjoint of $\sigma_{s,r}$ coincide with $\sigma_{-s,-r}$.

Proof of Proposition 2.

$$\begin{aligned} tF_{s,r}(t^{-1}) &= t \left(\int_0^1 \{(1-\alpha) + \alpha t^{-r}\}^{\frac{s}{r}} d\alpha \right)^{\frac{1}{s}} \\ &= \left(\int_0^1 t^s \{(1-\alpha) + \alpha t^{-r}\}^{\frac{s}{r}} d\alpha \right)^{\frac{1}{s}} \\ &= \left(\int_0^1 \{(1-\alpha)t^r + \alpha\}^{\frac{s}{r}} d\alpha \right)^{\frac{1}{s}} = F_{s,r}(t). \end{aligned}$$

Hence, $F_{s,r}(t)$ is symmetric.

Similarly,

$$\frac{t}{F_{s,r}(t)} = t \left(\int_0^1 \{(1-\alpha) + \alpha t^r\}^{\frac{s}{r}} d\alpha \right)^{\frac{-1}{s}}$$

$$\begin{aligned}
&= \left(\int_0^1 t^{-s} \{(1-\alpha) + \alpha t^r\}^{\frac{s}{r}} d\alpha \right)^{\frac{-1}{s}} \\
&= \left(\int_0^1 \{(1-\alpha)t^{-r} + \alpha\}^{\frac{-s}{-r}} d\alpha \right)^{\frac{1}{-s}} = F_{-s, -r}(t), \\
F_{s,r}(t^{-1})^{-1} &= \left(\int_0^1 \{(1-\alpha) + \alpha t^{-r}\}^{\frac{s}{r}} d\alpha \right)^{\frac{-1}{s}} \\
&= \left(\int_0^1 \{(1-\alpha) + \alpha t^{-r}\}^{\frac{-s}{-r}} d\alpha \right)^{\frac{1}{-s}} = F_{-s, -r}(t).
\end{aligned}$$

□

References

- [1] R. Bhatia, *On the exponential metric increasing property*, Linear Algebra Appl. **375** (2003) 211-220.
- [2] G. Corach, H. Porta, L. Recht, *Convexity of the geodesic distance on spaces of positive operators*, Illinois J. Math. **38** (1994) 87-94.
- [3] J.-I. Fujii and Y. Seo, *On parametrized operator means dominated by power ones*, Sci. Math., **1** (1998), 301-306.
- [4] T. Furuta, *Concrete examples of operator monotone functions obtained by an elementary method without appealing to Lowner integral representation*, Linear Algebra Appl., **429** (2008), 972-980.
- [5] F. Hiai and H. Kosaki, *Means for matrices and comparison of their norms*, Indiana Univ. Math. J., **48** (1999), 899-936.
- [6] F. Kubo and T. Ando, *Means of positive linear operators*, Math. Ann., **246** (1979/80), 205-224.
- [7] Y. Nakamura, *Classes of operator monotone functions and Stieltjes functions*, The Gohberg anniversary collection, Vol II(Calgary, AB, 1988), 395E04, Oper. Theory Adv. Appl., 41, Birkhuser, Basel, 1989.
- [8] A.C. Thompson, *On certain contraction mappings in a partially ordered vector space*, Proc. Amer. Math. Soc. **14** (1963) 438-443.
- [9] M. Uchiyama, *Operator monotone functions which are defined implicitly and operator inequalities*, J. Funct. Anal., **175** (2000), 330-347.

Yoichi Udagawa, Department of Mathematical Science for Information Sciences, Graduate School of Science, Tokyo University of Science, Tokyo, 162-8601, Japan.

Email-address: j1414701@ed.tus.ac.jp

Shuhei Wada, Department of Information and Computer Engineering, Kisarazu National College of Technology, 2-11-1 Kiyomidai-Higashi, Kisarazu, Chiba 292-0041, Japan

Email-address: wada@j.kisarazu.ac.jp

Takeaki Yamazaki, Department of Electrical, Electronic and Computer Engineering, Toyo University, Kawagoe-Shi, Saitama, 350-8585, Japan.

Email-address: t-yamazaki@toyo.jp

Masahiro Yanagida, Department of Mathematical Information Science, Faculty of Science, Tokyo University of Science, Tokyo, 162-8601, Japan.

Email-address: yanagida@rs.tus.ac.jp